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RATIONAL NUMBERS

Try These

1. Are all whole numbers also natural

numbers?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ZpW4WFakVDqC


2. Find x in the following figures. 

Watch Video Solution

https://dl.doubtnut.com/l/_ZpW4WFakVDqC
https://dl.doubtnut.com/l/_ubnw26GyDgFj


3. Find x+y+z 

Watch Video Solution

https://dl.doubtnut.com/l/_qo0upfUuFnkz


4. Find x+y+z 

Watch Video Solution

5. Find the using distributivity 

Watch Video Solution

{ × ( )} + { × }
7

5

−3

12

7

5

5

12

https://dl.doubtnut.com/l/_aid8C2qLNVHr
https://dl.doubtnut.com/l/_n3LjyP70Tdmh


6. Find the using distributivity 

Watch Video Solution

{ × } + { × }
9

16

4

12

9

16

−3

9

7. Write the rational number for each point

labelled with a letter. 

Watch Video Solution

https://dl.doubtnut.com/l/_n3LjyP70Tdmh
https://dl.doubtnut.com/l/_5ucj3WnHJsis
https://dl.doubtnut.com/l/_pfePw3lB30AS


Think Discuss And Write

Exercise 1

1. A rational number between 3/8 and 1/2 will

be :

Watch Video Solution

1. Using appropriate properties find 

Watch Video Solution

− × + − ×
2

3

3

5

5

2

3

5

1

6

https://dl.doubtnut.com/l/_WBjTh6fK2k9Q
https://dl.doubtnut.com/l/_iJXZFXUh1qcx


2. Using appropriate properties find : 

 


 


 


 


 


 


 


Watch Video Solution

× ( ) − × + ×
2

5

−3

7

1

6

3

2

1

14

2

5

= × ( ) + × − ×
2

5

−3

7

1

14

2

5

1

6

3

2

= × ( + ) −
2

5

−3

7

1

14

1

4

= × ( ) −
2

5

−6 + 1

14

1

4

= × −
2

5

− 5

14

1

4

= −
−1

7

1

4
−4 − 7

28

=
−11

28

https://dl.doubtnut.com/l/_iJXZFXUh1qcx
https://dl.doubtnut.com/l/_LlpOuNatqEEy


3. Write the additive inverse of each of the

following :

2/8

Watch Video Solution

4. Write the additive inverse of each of the

following . 

Watch Video Solution

−5

9

https://dl.doubtnut.com/l/_LlpOuNatqEEy
https://dl.doubtnut.com/l/_NcGYWycwIP2i
https://dl.doubtnut.com/l/_ncbnTkBtwJ8E


5. Write the additive inverse of each of the

following . 

Watch Video Solution

−6

−5

6. Write the additive inverse of each of the

following . 

Watch Video Solution

2

−9

https://dl.doubtnut.com/l/_w9jp21KKs3mi
https://dl.doubtnut.com/l/_qGJR2GoZ1bgQ


7. Write the additive inverse of each of the

following . 

Watch Video Solution

19

−6

8. Verify that  for 

Watch Video Solution

−( − x) = x x =
11

5

9. Verify that  for 
−( − x) = x

x = −
13

17

https://dl.doubtnut.com/l/_9YtIuQYjyq9l
https://dl.doubtnut.com/l/_XQVRjgm1nm1S
https://dl.doubtnut.com/l/_8hg3bdAoroWx


Watch Video Solution

10. Find the multiplicative inverse of the

following : -13

Watch Video Solution

11. Find the multiplicative inverse of the

following : 

Watch Video Solution

−13

19

https://dl.doubtnut.com/l/_8hg3bdAoroWx
https://dl.doubtnut.com/l/_Rybe8HG1lFoe
https://dl.doubtnut.com/l/_lClvWpv4B96k
https://dl.doubtnut.com/l/_896STr0BfsLU


12. Find the multiplicative inverse of the

following : 

Watch Video Solution

1

5

13. Find the multiplicative inverse of the

following : 

Watch Video Solution

×
−5

8

−3

7

https://dl.doubtnut.com/l/_896STr0BfsLU
https://dl.doubtnut.com/l/_F6wkSy5MaDKU


14. Find the multiplicative inverse of the

following 

Watch Video Solution

−1 ×
−2

5

15. Find the multiplicative inverse of the

following : -1

Watch Video Solution

https://dl.doubtnut.com/l/_Ayoyy0xQOcUq
https://dl.doubtnut.com/l/_Y0nCmcfdz3VE


16. Name the property under multiplication

used in each of the following.

Watch Video Solution

× 1 = 1 × = −
−4

5

−4

5

4

5

17. Name the property under multiplication

used in each of the 

Watch Video Solution

× = ×
−13

17

−2

7

−2

7

−13

17

https://dl.doubtnut.com/l/_B57vD8xZE5li
https://dl.doubtnut.com/l/_VR1HpgapMXEt
https://dl.doubtnut.com/l/_amYGDHYjeMev


18. Name the property under multiplication

used in each of the following.

Watch Video Solution

⋅ = 1
−19

29

29

−19

19. Multiply  by the reciprocal of 

Watch Video Solution

6

13

−7

16

https://dl.doubtnut.com/l/_amYGDHYjeMev
https://dl.doubtnut.com/l/_A8jtaOljmRCL


20. Tell what property allows you to compute

as 

Watch Video Solution

× (6 × )
1

3

4

3
( × 6) ×

1

3

4

3

21. Is  the multiplicative inverse of ?

Why or why not?

Watch Video Solution

8

9
−1

1

8

https://dl.doubtnut.com/l/_J728ZXKMzDjL
https://dl.doubtnut.com/l/_T04wcpMdIDqP


22. Is 0.3 the multiplicative inverse of ? Why

or why not?

Watch Video Solution

3
1

3

23. The rational number that does not have a

reciprocal.

Watch Video Solution

https://dl.doubtnut.com/l/_IDghH41syibt
https://dl.doubtnut.com/l/_Mb5QyiKVRhAQ


24. The rational numbers that are equal to

their reciprocals.

Watch Video Solution

25. The rational number that is equal to its

negative.

Watch Video Solution

https://dl.doubtnut.com/l/_KrfNvfyW6X6j
https://dl.doubtnut.com/l/_G8wib5uaSEmE


26. Fill in the blanks : Zero has ________

reciprocal.

Watch Video Solution

27. Fill in the blanks : The numbers ________ and

________ are their own reciprocals

Watch Video Solution

https://dl.doubtnut.com/l/_BoJjIyu3Eks6
https://dl.doubtnut.com/l/_uxEpdSm0e571


28. Fill in the blanks :

The reciprocal of -5 is …………… .

Watch Video Solution

29. Fill in the blanks : Reciprocal of , where

 is ________.

Watch Video Solution

1

x

x ≠ 0

https://dl.doubtnut.com/l/_GUhb8yBYtwCQ
https://dl.doubtnut.com/l/_ZOPLWJ9v8PkI


30. Fill in the blanks :

The product of two rational numbers is always

a …………… .

Watch Video Solution

31. Fill in the blanks :

The reciprocal of a positive rational number is

………… .

Watch Video Solution

https://dl.doubtnut.com/l/_Jg9KYWQAbc0w
https://dl.doubtnut.com/l/_fNLJ34csEjFe


Exercise 2

1. Represent these numbers on the number

line. 

Watch Video Solution

7

4

2. Represent these numbers on the number

line. 

Watch Video Solution

−5

6

https://dl.doubtnut.com/l/_jI32PBg6BbAq
https://dl.doubtnut.com/l/_H1lXvpNkzkbC
https://dl.doubtnut.com/l/_NU9xR9ck2Sx8


3. Represent , ,  on the number

line.

Watch Video Solution

−2

11

−5

11

−9

11

4. Write five rational numbers which are

smaller than 2.

Watch Video Solution

5. Find ten rational numbers between 

and .

−2

5
1

2

https://dl.doubtnut.com/l/_NU9xR9ck2Sx8
https://dl.doubtnut.com/l/_7OF5Q09EdAVa
https://dl.doubtnut.com/l/_CR7nmeVrRmYU


Watch Video Solution

6. Find five rational numbers between  and 

Watch Video Solution

2

3
4

5

7. Find five rational numbers between  and

Watch Video Solution

−3

2
5

3

https://dl.doubtnut.com/l/_CR7nmeVrRmYU
https://dl.doubtnut.com/l/_2ctkGyl9Krs0
https://dl.doubtnut.com/l/_KICmZGeaL6wB
https://dl.doubtnut.com/l/_vpr6XWvJF3z2


8. Find five rational numbers between  and 

Watch Video Solution

1

4
1

2

9. Write five rational numbers greater than -2.

Watch Video Solution

10. Find ten rational numbers between  and 
3

5
3

4

https://dl.doubtnut.com/l/_vpr6XWvJF3z2
https://dl.doubtnut.com/l/_HoJD2EdLPSoE
https://dl.doubtnut.com/l/_5xDs0v4nXm9I


Watch Video Solution

https://dl.doubtnut.com/l/_5xDs0v4nXm9I

